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All forms fall into two basic categories: ~
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Kinetic energy, measured in J, depends on an object’s mass and speed according to:
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Example: A 60.0 kg student is running at a uniform speed of 5.70 m/s. What is the kinetic

energy of the student? y N
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Example: The kinetic energy of a 2.1 kg rotten tomato is 1.00 x 10%J). How fast is it

moving?
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Work-Energy Theorem: When a net force acts on an object, the object...

In other words, the force does work on the object and the object’s kinetic energy changes.
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Therefore, the total work done oni an object by a net force _ __the
change in its kinetic energy.




Therefore, the total work done on an object by a net force FLTLL&IS the
change in its kinetic energy. 2
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Example: A sprinter exerts a net force of 260 N over a distance of 35 m. What is his
change in kinetic energy?
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Example: How much work must be done to accelerate a 1200 kg truck from 13 to 28 m/s?
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Example: A student pushes a 25 kg crate which is initially at rest with a force of 160 N
over a distance of 15 m. If there is 75 N of friction, what is the final speed of the crate?
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